JUPITER PARK STORAGE 12/13/2009
VOLTAGES:

Waltage A/L1

T23E8 72368 T23E8 723.68

0.00 = 0.00 = 0.00 = 0.00 =

-723B8 7368 J2AER 72368 <

0.00ms 833 ms/Div

CURRENTS:

1805 1505 1505 1508

Current &/L1

N

484 4B 4B 0484

1408 1408 1409 1409 &

0.00 ms 8.27 ms/Div

VECTOR UNCORRECTED:

Aafuna 24
Ag funa 28
Acfuna 20
Hz 5998
Bape 120
Og.cy 142
coam 99

c0 A

01£12403 19:01:27 DEFAULT

MUER AP

A B C

B ]

Datablock

Mame  =“oltage A/LT Woltage B/L2
Date  =1/12/2003 141272003
Time  =E5%36PM E:53:37 PM
Y5cale = 723EBV/Div | 72363V Div
T ALEDE = 0.00v 000y
HScale = 8.33msDiv 8.33 ms/Div
Harlz = 0.00ms 0.00 ms
¥ Size  =238(300) 298 (300)
Masimurn = 379.70V 38044V
Minimurn = -380.27 380,33V
Mame  =“oltage C/L3 Woltage N
Date =1/12/2002 11272003
Time: =E:53:37 PM E:59:38 PM
¥ Scale = 723.68V/DW | 72363V Div
W ALEDE = 0.00v 0.00v
KScale = 8.33 medDiv 8.33 me/Div
marl% = 0.00ms 0.00 mg
® Size  =298(300) 296 (300)
Maximum = 38152 052\
Minimum = -381.78% 017

Cursor Values
®1 213 ms
X2 1490ms
dX¥: 1277 ms
YW1 37953V
Y20 -37870Y
dv: -FAe.24 Y

Databloc)

Name  =Cumert /L1 [Curent B/LZ
Date  =1/12/2003 1/12/2003
Time  =7:0009PM 7:00:03 PM
Y5cale = 1457 A/Diw (1467 A/Div
TALEDE = 48 A 48 A
H¥Scale = B27msDiv|  B.27 ms/Div
Harlz = 0.00ms 0.00 ms
¥ Size  =236(300) 295 (300)
Masimurm = 64.4 A EO7 A
Minimum = 646 A F95 A
Mame  =Cunent £33 |Cument M
Date =1/12/2002 11272002
Time: =7:00:10PH 7:00:10 P
¥ Scale = 1457 A/Div | 1457 A/Dw
WALEDEZ = 48 A 0484
KScale = B2Vme/Div| 827 me/Div
Zarl% = 0.00ms 0.00 ms
® Size  =295(300) 295 (300)
Maximum = 51.3 A 961 A
Minimum = -53.4 A 9534

Cursor Values
®1 28Ems
X2 1557 ms
dX¥: 1271 ms
el 636 A
W2 540 A
dv: 1076 A




NEUTRAL:

H

" 02vl" BnA

59.9Hz G 00158 A -2x P <E
AN 200
- e i
0112403 19:03:549 4000 G0Hz 38 WYE DEFAULT

3
o
[

UOLT AHP

CURSOR
& Z00M

PERSIST
UHY OFF

HOLD

HEANENE RUH

PHASE OVERLAYS:
"2797 v "2813v
%9.98H= O 00021 S -2x F2 29.98H= S 00048 % -2x F

0112403 19:05:00 4000 60H=z38 WYE DEFAULT

UOLT AMP  CURSOR F'"H PERSIST HOLD
HY n DB & Z00M i UHN OFF RUH

01712703 19:05:28 4000 60H=z3H WYE DEFAULT

UOLT AMP  CURSOR F'"H PERSIST HOLD
HEAN B e & Z00M i UHY OFF RUH

v,

"

2818 v

59.99H=z

01£12403 19:05:45

UVOLT AMP  CURSOR
& 001

HABTC

4000 60Hz 38 WYE

3

K

0:01:05% 4 -2x

DEFAULT

PERSIST HOLD

o BN OFF | RUH




HARMONICS:

Harmonics
A THO---.- [ THD 3.6%r

LI HIHE P -
{F“]B ................................................
- SR 5“'}5 ................................................
| 1 D, B |
THODC 1 3 5 7 9 1 13 15 17
0112403 19:07:07 400U GOHz 38 WYE DEFAULT

I-HARM.
UHY OFF

HOLD

TABLE RUH

Harmonic
AHT 17.0

...... “]B
o 5{]'}5

| ]
THODC

0112403 19:07:34

AHT 99.7%rfFH1 60 HzFH1 - 219 |
& 0:0D:42 =N

N T I T R

3 5 7 L] 11 13 15 17

400U 60Hz 38 WYE

DEFAULT

TRENDS:
VOLTAGES:

. W Rms /L1
WEA I 2590 T
= =
AEE CESEE J9EE «
000000 913 s/Div
CURRENTS;
& Fims A1
408 1406 1408
=< =L =X

84 8.4 2404

00:00:00 913 ¢/Div

ara

Diatablock
Name =% RAms AL % Fims B/L2
Date  =1/12/2003 |1/12/2003
Time  =T75116PM %5116 PM
5cale = 15.43V/0iv| 1543V Div
W ALENE = 27753 27763V

HScale =913 &/Div |93 5Div
HAr0% = 00:00:00 00:00:00

X Siee  =362(362) |362(362)
Masimurn = 279,71 2B0.EEY
Minimum = 267.41% BNV
Mame ="/ Hms L3

Date =1/12/2002

Time: =7E11EPM

Y Scale = 15.43Y/Div
W ALEN% = 27753y

KScale =913 2/Div
A% =00:00:00
®Size  =362(362)

taximum = 280,87 ¥
tinimum = 267.41%

Cursor Values
#1 0d 00:07:30 [1/12/2003 7:28:41 PM)
®2 0d 00:22:35 [1/12/2003 7:42:46 PM)
dx (0d 00:15:05
YW1: 27846 27858 27863V
YW2: 27684 27703 27707V

dv 181 155 166V
Diatablock
Name & Fms AT |4 Fims B/L2

Date  =1/12/2003 |1/12/2003
Time  =75116PM |7:51:16 PM
5cale = 13254/Div| 1325 4/Div
TALEDE = T4EA

S
Hmrmm ety

H¥Scale = 913 &/Div| 913 s/Div
HAr0% =00:00:00  |00:00:00
X Siee  =362(362) |362(362)
Masimurn = 1223 4 TIE3A
Minimum = 3094 AR
Mame =& Fmz L3

Date =1/12/2002

Time: =7E116PM

Y Scale = 1325A/Div

WALED% = T4EA

X Scale = 913 «/Div

A% =00:00:00

®Size  =362(362)

Maximum = 12364
Minimum = 3454

Cursor Values
#1 0(1/12/2002 7:48:11 PM)
®2 5(1/12/2002 7:43:26 PM]
dx 0d 00:01:15
Y1:o1024 1026 10304
¥2: 8914 516 5134
dv: 111 111 A11A




CURRENTS 2

131 1131

235 238

00:00:00

WATTS:

1056 1056 1056

oz
A64 164 164 &
o0
VA WATTS:
164 TE4 1184

ke
ks,

A Rims A1

917 5/Div

‘W Full Total

322 =/Diw

Wi, Full Total

75 75 75 &

00:00:00

325 =/Div

4

Diatablock
=4 RAms A/L1 |4 Rms B/LZ
A12/2003 |1/12/2003
5116 PM | 7:51:16 PM
896 A/Div| BIEADW
EB34
917 &/Div | 917 s/Div
HAr0% =00:00:00  |00:00:00
X Siee  =362(362) |362(362)
Masimurn = 1223 4 TIE3A
Minirmus AR

Name

Mame:
Date
Time:

Minimum = 3454

Cursor Values
:28:00 [1/12/2003 7:43:11 PM)
£ 35 [1/12/2003 7:50:46 PM)
5

Y194 g7 S21A
vz B35 896 84BA

dy 1.9 21 234

3

Name "/ Full BALZ
Date 141272003
Tirne: A6 PM
Y Scals 1221 kiwé/Div
¥ At 50 446 ki
#5cale 922 s/Div
HALO0%Z = 00:00: 00:00:00
X Size  =3E2[3E2) 62 (362)
Maimum = 28, 251 kiwd
inirmu 0.0 ki
Name ' Full Totkal
Date 1/12/2003
Time TH116PM
Y Scale 1221 ki ADiv
¥ ALED 446k
# Scale 922 s/Div
X AL0% 00:00:00
% Size 362 [362)
[LE B0.9 ki
Minimum = 0.0k

Cursor Values

#1 0d 00:28:00 (1/12/2002 7:43:11 PM]
K2 0d 00:23:45 (1/12/2003 7:50:56 PM]

dx 0d 00:01:45
v1. 723

T2EKW

2.6
Y2 B37 BI7 BITKW
44

dv: -BE

B.OkKW

Diatablock
=WAFulA/LT  |Va Ful BA2
A2/2003 141272003
51:16 P FE1716 PM
123.9 kViDiv| 123.9 kKvA/Div
545 ki S4.5kVA
926 s/Div 925 s/Div
HALDZ 0:00:00 00:00:00
X Size  =3E2[3E2) 32 [362)
Maimum = 33.7 ki 321 kVA
inirmu 0.0 ki 0.0 kva
Name W Full Total
Date £12/2003 1412/2003
Time G116PM 7516 PM
Y Scale = 1239 kVadDiv| 123.9 KvA/Div
Y ALEDY = BLE kWA 545 kA
#Scale = 925 s/Div
X AL0% 00:00:00
% Size 362 (362)
[LE 99.8 kv
Minimum = 0.0 ki 28.1 kvh
Cursor Values

#1 0d 00:23:15 (1/12/2003 7:50:26 PM]
K2 0d 00:23:45 (1/12/2003 7:50:56 PM]
dix 0d 00:00:30

Y1 842 B4Z D44RVA

Y21 734 TIE  TIEKWA

dv: 108 05 A0BkvA




VAR:

WaR Full A/01

P03 03 03
s S E:
=4 = =
JB5  7BS TEE
000000

POWER FACTOR:

130 1E0 1.30

922 5/Div

FF a/L1

PF
PR

054 054 054

00:00:00

DEMAND POWER FACTOR:

320 s/Div

DFF A1

114 114
W w
o o
= =)
07 076 s

00:00:00

12 =/Div

P RELhnE ]

Diatablock

AR Full B/LZ
1412/2003
5116 PM
106.8 kKVAR/Div
2371 kAR
922 s/Div
00:00:00
362 (362)
Mawimurn = 3.2 kKWAR 1.9 kvAR
Minirum = -69.7 KWAR 691 kVAR
Name AR Full Total
Date 1242002 141272002
Tirne: “561:16 PM TEIEPM
' Scale = 106.8 KYAR/Div| 106.8 kVAR/Div
- KVAR 231 kAR
922 +/Div
00:00:00
362 (362)
81 kWAR
Minimum = -£3.7 kKWAR BT kAR

Cursor Values
K10 0d00:28:06[1/12/2003 7:49:76 PH]
K20 0d00:29:451,/12/2003 7:50:56 PH]
dx:  0d00:01:40
v 15 13 1.9KVAR
v2: 108 105 -105kVAR
dy 89 B2 1Z4KVAR

3
FF B/L2
112/2003
TEL1EPM
760 mPF/Div
0.92 PF
920 s/Div
00:00:00
362 [362)
1.00 PF
0.00 PF
Name PF Total
Date 111202003
Time THIIEPM
Y Scale 7ED  mPF/Div
¥ ALED 0.92FF
# Scale 320 s/Div
X AL0% 00:00:00
% Size 32 [362]
[LE k 0.93PF
Minimum = 0.00PF 0.00 PF
Cursor Values

#1 0d 00:28:30 (1/12/2003 7:4%:41 PM]
K2 0d 00:23:40 (1/12/2003 7:50:51 PM]
dix 0d 00:01:10

v1: 089 093 099PF

Y2 000 090 090PF

dv: -0.03 -0.09 -0.09PF

Datablock
Name  =DPF &/1 DFF BAL2
Date =1/112/2003 1412/2003
Tirne =751:16 PM 75116 PM
W Scale =380 mDPF/Div|380  mDPF/Div
¢ M 50% = 0.95DPF 0.95DPF
X Scale =912 s/Div 2 s/Div
X AL0%E =00:00:00 000000
X Siee  =3B2(362) 362 [362)
Maimum = 1.00 DPF 1.00DPF
Minirmum = 0.00 DPF 0.00 DFF
Name =
Date  =1/12/2002

Time  =7.51.16PM
Y Scale =380 mDPF/Div
5 DPF

¢ M 50% = 0.95 DFI
M Gcale =912 s/Div
<A1 0% = 00:00:00
% Size =362 (362)
Maximum = 1.00 DPF
Mirimum = 0.00 DPF
Cursor Values

0d 00:28:30 (1/12/2003 7.43.:41 PM)
0d 00:29:35 (1/12/2003 7.50:46 FM)
0d 00:01:05

: 0490 090 090DPF

1
%2
di
1: 093 100 1.00DPF
2
dy: -0.03 -040 -010DPF




